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ssage, each of which has been numt

int lowing pa
(1-5).  There are blanksn the following Y i P 3

: er, one 0
Four words are suggested against each numb

appropriately. Find the appropriate word.

i L .....{2
: : ' 1)..... at the medical schoo
' clock in the evening and I amin the ..... 1
T : _ (4)... when some-one ... (3

of other students are working. Itis...... (3)....

page or scratches their head.

1. (1) hbrary (2) sportsroom

(3)-*"grnund (4) lectureroom
2. (1) Maximum ' }2) Se much
(3) Lots (4) Huge
3. (1) less /(2) guite
(8) big ' (4) poor
4, (1) except (2) rare
(3) after }4—} against
5. (1) removes . (2) holds
(3) sticks (4) turns

6. The Prisoner was innocent. He was released.

.. The combined form of the above two sentences begins with ....

}L} Being innocent, .. (2) Incaseof..........
(3) AssoONas............. | (4) Thoughhe...........
- Mycarhada.. .. at the middle of the main ro ad

94 Chouse the appropriate phrase to fill the blank.
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8. "The pen is mightier than the sword"is .........

A1) a proverb (2) afact
(3) aview (4) anissue

9. A : This pencil is too blunt.

B : O.K.! Then why don't we get .............. ?
Choose the correct option to complete B's reply.
(1) it sharpened /(2) this sharpened
(3) itshortened (4) this narrowed
10. He had returned to the hospital because he had a ........... tumour of the bone.
Choose the adjective which best fits the meaning of the sentence to complete it.
(1) interpid (2) malignant
(3) amputate /(4') prevalent

11. Identify the word which can be used as anoun and an adjective.
(1) beautiful (2) table
(3) run (4) marble

12. Choose the right prefix to make the word "fortune”.

(D) anLaiiiial.. 2 i s

Aan .o (4) I8 it
13. My father 1S ANgrY «..:-....... Me.

Identify the correct preposition to fill in the gap.

(1) with . A2) on

(3) at \® _ (4) about

- 14. Idéﬁﬁf} the compound sentence. |
B (1) When she gave me a book, I thanked her.
_,,(2) He worked hard but he failed.

4200 (3) As I saw a snake, I ran away.
” " ﬁl-a (4) Insplte of wurkmg hard, he failed.

(2) Steal
(4) Fresh
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16. You haven't done a good job ............ ?
Complete the sentence choosing the correct question tag.
(1) aren't you A9) haven't you
(3) have you (4) haven't

17. She has given me nice gifts.
The passive form of the above sentence is ............
(1) Nice gifts are given by she.
- k2) Nice gifts have been given by her.
(3) Nice gifts has been given by her.
(4) Nice gifts are being given by her.

18. Ifyou had attended my birthday party, ...........
Identify the later part of the sentence.
(1) you can get a cake. (2) " youcould get a cake.
(3) you could have a cake. }ﬂz you would have got a cake.

19. The book / whom you/lost is /in my hands.

(a) B @
The sentence is divided into four parts a, b, ¢ and d. Identify the part of the

sentence that has an error.

D@ 2) )
-_.; 3 © 545 @ @
20. The passa@ o difficult that I . .. comprehend it.

s the's ppmpnate phrase to ﬁll the blank.
,(25 cannot
(4) could not be

pr :
M his EIEtEl:'E daughter. ;
correct nptmn to fill in the blank

‘will not
(4)- is not o
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Ravi : My father is a teacher, working in Hyderabad.
Identify Raju's question from the following.
(1) where is your father teaching now
‘what is your father doing
(3) whois your father
(4) what is your father
23. One should work for..................... nation.
Choose the appropriate word to fill in the blank.
(1) one's (2) once
(3) his }59/ their
24. Which bunch of grapes do you want, ................ 2
(1) these or those (2) » this or that
(8) these ones or those ones ( this ones or that ones

25. a) Iam going to cut my hair.
b) Iam going to have my hair'cut.
Read the sentences (a) and (b). Identify the correct sentence(s).

| /(1) only (a) i1s correct (2) only (b)is correct
i (3) both (a) and (b) are correct (4) both (a) and (b) are incorrect
26. Whois knocking.................. the door?

Identify the correct preposition to fill in the blank.

(1) on ﬂf at

(3) above | (4) wupon

97. If he had not studied well, he would have failed.

The above sentence tells that .........

@) he did not study well (2) hestudied well

(3) he used to study well (4) he wanted to study well

8. Choose the word with the incorrect spelling.
(1) revange ' _12) repentance
- (3) resemblance . (4) remind

[5] Turn O
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929. There is a kind of austere severity about the blue bordered white sari.
The simialr meaning of the underlined word i8 ..
(1) charming (2) famous
(3) simple (4) religious

30. Soon after our arrival we went to bed.

The underlined word can be correctly substituted by ........
(1) immediately after | (2) assoon as
(3) unless (4) when

31. Heissointelligent ...............
Identify the later part of the sentence.
(1) that he cannot study well. (2) - tostudy well.
(3) that he can study well. (4) that he cannot play games

32. The word"calf"is...........
(1) adisease (2) aplant

(3) an animal (4) ' a person

33. Industrvisthesecretof............... people's success.

Choose the correct form of the underlined word to fill in the blank.
() industrial | (2) industrious

§eE e (3) ustriolous (4) 1industrialistic

PASEEI NN . . 4
}qs" pair of words in which underlined parts are pronounced in the san

(4) _ food — full

Sir ,,j, spital. You went to visit him. What would you say?

.!; g (2 It'sworst
do! - | (4) I wish you a speedy recovery
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She 1s a girl.
Identify the part of speech of the underlined word.
(1) verb (2) helping verb

(3) pronoun (4) noun

Taj Mahal is the most beautiful of all the monuments in India.

The sentence can also be written without changing the meaning as.......
(1) No other monument in India is as beautiful as Taj Mahal:

(2) Very few monuments in India are as beautiful as Taj\Mahal.

(3) Taj Mahal is not so beautiful than any monument in India.

(4) Some monuments are more beautiful than TajMahal.

ldentify the correctly punctuated sentence:
(1) Raju! who1s a farmer? Has two sons.
(2) Raju, whois a farmer has two sons.

(3) Raju who1s a farmer has two sons.

(4) Raju! whois a farmer, has two sons.

The sentences labelleda, b, ¢, d and e are jumbled.

Identify the correct order.

a) Kamala plantédit.

b) Now, she isenjoying the fruits.

¢) OnceVimala gave a plant as a birthday gift to Kamala.
d) Kamala and Vimala are good friends.

e).. Then she took care of that plant with love.

(]-.} d):— E}, Ei]', E)! h) (2) b], a), d), E}, E')
(3) d),b),a),c)e) (4) a),c),d),e),b)
Naveen is an orphan boy. His uncle and aunt ............. him.
Identify the correct option to fill the blank.
(1) look at (2) look through
19(3) look into (4) look after
[7] Turn O
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My father............... know how to dance.
To fill the blank, identify the appropriate wnrc?.
(1) don't (2) willnot
(3) doesn't (4) haven't
A : Irose at six yesterday.
B : Even I too used to rise at six every morning.
C : Iam rising at six every morning too.
D : Irise at six every morning.
Whose response to'A’ is grammatically correct?
(1) D's (2) B's
(3) C's (4) Noneof these
One who treats skin diseasesisa ...........
(1) Oncologist (2). Psychologist
(3) Dermatologist (4) -~ Orthodontist

Identify the sets of words arranged in the alphabetical order.
(1) Concentrate — conceal — concept — concern
(2) Conceal — concentrate— concept — concern
(3) Concept — concern = conceal — concentrate
(4) Conceal — concept— concern — concentrate

"Shall I bring a eup of coffee for you?"

The 'language function' of the sentence is ...... :

(1) asking question (2) helping

(3) making an offer (4) seeking permission

(46-50). Read the following passage carefully and answer the guestions that follow

Many people think that they can use wool because no creature has suffere:
to provide it. "What is wool?" It is the sheep's hair and it protects the anima
against cold.

Isita natural product? It should have been. However in recent years, natur
had been sidelined. Today's hybrid sheep that the wool industry uses ar
scientifically bred wool machines. The modern hormone injections make the!
carry for more wool on their body than they need or they could carry.

18]
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Scientists have bred a Mernino sheep which is more wrinkled because the
more the wrinkles the more the wool. More wrinkles mean more perspiration
and greater susceptibility to flies. '

The unnatural overload of wool causes misery to the sheep, especially in
summer and in winter, which comes after the shearing of the wool. Many animals

die of cold.

Why do many people think that they can use wool?

(1) Because woollen clothes give protection against cold.
(2) Because woollen clothes are beautiful.

(3) Because woollen clothes are natural.

(4) Because woollen clothes are made by machines,

Why 1s wool not a natural product today?

(1) Because wool 1s produced even in hotdesert.

(2) Because wool is produced by artificial breeding of sheep.
(3) Because wool 1s produced by wool machines.

(4) Because wool is produced by great in::lustrial houses.

What is meant by "wool machines"?

(1) Machines to cut wool from sheep

(2) Machines that'grow more wool on sheep

(3) Sheep which areartificially made to produce wool
(4) Machines that process natural wool

Why is sheep's body made to develop wrinkles?

(1) Because wrinkles protect the sheep from heat.

(2). Because wrinkles produce more wool on the body.
(3) Because wrinkles help the sheep to avoid flies.

(4) Because wrinkles make sheep look more beautiful.

90. Which of the following statements is the most suitable title to the essay?
' {1] Man's cruelty to animals (2) Artificial wool
‘(3) Sheep rearing (4) Synthetic wool

E-2 . 9] . Turn Q

www.sakshieducation.com



1.

52,

53.

54.

wwwsakgRigducgfon.com Q Booklet B \

BIOLOGICAL SCIENCE Code
Leukocytes means ..............
(1) red blood cells (2) platelets
(3) thrombocytes (4) white blood cells
ﬂﬁﬁg&% BT ssvsinnenians
(1) B8 Sewen (2) O dolten
(3) @reds, (4) Do oY Seven

We can feel cold, heat, pain and pressure. These stimulus responses are under

the control of this part in our body. _
(1) Midbrain (2) Medulla oblongata
(3) Cerebrum (4) Cerebellum

Soiv0 99, DA, Ty BoBcis Histo Howd esagrBorns e Koerans 58ted’ 51 adissu,
BOHete oheBed i,

(1) o Dot (2) DB wipcier

(3) wouye (4) . esoiomye

The Phytohormone, relating to the ripening of fruitsis ............
(1) Abscisic acid (2) Cytokinin

(3) Ethylene | (4) Gibberellin

S0l P73 RS HoBseROD0 PeTHIE 0 cuvverrerinns

(1) E'SEJ_:JE e5i00 (2) @5{’:5_‘35

(3) 685 (4) 2008
Immediately after the delivery, the mammary glands of the mother secrete ...
(1) Mllk (2) Colostrum

(3) Blood (4) Water

(55550 90035 Doesd BO JHHOLId BROWD wuersersenes

(1) Sren (2) E‘tﬁ'@c |

(3) &0 @

[10]
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55. Study the following :
a) Phenotype ratio 3:1
b) Genotyperatio 9:3:3:1
¢) Independent assortment ratio 1:2:1: 2
Identify the correct ones among the above.
1) 3:‘:_1")3 and c) ' (2) a)iscorrect and b) is not correct
(3) a)isincorrect and b) is correct (4) b)iscorrect and c) 1s incorrect
300 T3 WESSed
a) SREFSGS 3:1
b) 2lrddg® 9:3:3:1
C) BRI ARHS 1:2:1:2
D6’ S0 T M8oied.
(1) a)dain b) So8aiw c) (2) a) SBALRD o8ain b) o8
(3) a) 3608 woaks b) 56 (4) (| b) 35G350 50k ¢) $T°08

86. Kajiranga National Park, having large number of Rhinoceros is in this state.
(1) Assam (2) Odisha
(3) Arunachal Pradesh (4) Kerala
PG JYTe J I G SHEEOT B STFEsSv0 B1 Tges’ Hobd.
(1) e (2) =&
(3) exeerve (3508 (4) S

~ 57. The electricity produced by the sea wavesis..........

(1) H}rdruelectricity (2) Thermal ElEEtriEit}?
(3) Nuclear electricity (4) - Tidal electricity

L SRS 000 TND® SBD B 0D e

= (D) seand 2) dassd

(3 wrgonbonad @) pubond

+ According to the World Health Organization (WHO), the recommended Fluoride
content in the drinking water per one litreis ...............

55013 esCty 033 (ST 500 (B0 8 Gotisiiss G 50570 (=8 Deotons)
(1) 0.5 mg to 1.5 mg (2) 1.6 mgto2.5mg
(3) 2.6 mgto 3.5 mg (4) 3.6 mgtod.5 mg

[11] Turn Over
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The "Powerhouses" of cells are ...........
(1) chloroplasts
(3) mitochondria

(2) nucleoli
(4) chromosomes

509 TSP sveenarnrens
(1) 06 den (2) BosroTew
(3) Sl (4) Eardoown
When the foetus is in its mother's womb, the blood cells are generated from .
(1) bone marrow (2) liver and spleen
(3) kidneys (4) brain and spinal cord
FoY BY KE108" axndytis T B Srrew i3 Kok BOUPUYTOD Jueeiteress.
(1) sy domes (2) =Bk, ;ﬂ'hr::
(3) orB oot (4) oS, Tl
If you kept an egg in the salt water, the egg will be contracted. The reason is .
(1) exoosmosis (2).." endosmosis |
(3) pressure (4) diffusion
& O3 o8’ S0l 06 $H¥0d. B3 Seso ...
(1) :J‘”-J‘E{_ES:J‘*B 30 (2) BB (LD 15880
The Indian scientist whohad classified th
(1) Parasara Maharishi y (Z}E p};ﬁlts hEEEd on flowersis............
(3) Susruthudu 7 arakudu

(4)  Varahamihira
DR OO TN Daok e S " _—
(1) St ussg @ D e,
D PR @) soimnsy

%) o

These organisms utilize their e

(1). Annelida

(3) Echinodermata @) Oelenterata
mphib;i
&é@wmeua:@a%m&%bm : ibia
(1) b & : TR Sooumays,
(3) =gt @ ﬁ; ’:";a”‘
Qir
[12]
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' 64. The scientific name of Turmericis ...
(1) Kurkuma lﬂng_a_ | . (2) Camellia Sinensis
(3) Amaranthus viridig (4) Ficus Benghalensis
S5 THOL TR oo,
(1) 08 08r Sore (2) Z9BOXF PODY
(3) eRoTrofo DBES (4) P Doids
65. Vitreouschamberispresentin
(1) ear (2) nose
(3) throat (4) eye
SRS K 0 SDADA ...
(1) =2 (2) So%,
(3) Fowo @ s
66. The pigment, lodopsin is presentin............
(1) cones (2) ( rods
(3) plastids (4) - mitochondria
SAABETD? & 5 STEOR FORDD ... s e,
(1) Sopopes (2) Sormen
(3) 8% Erames (4) veSodarr
67. Inour skin the sensitive receptor for temparatureis.......... .
(1) tactile receptor (2) pacinian receptor
(3) touch receptor (4) nociceptor
RO ;35&955 IO WP AT, [F%D [ES ...
(1) ;:33.5 oS (2)  2BADS [rirso
(3) Hymeaese (49 Tt

68. Thisscientist, Nobel Prize winner of 1973, reared geese and the geese fo)

him from the day they hatched.

(1) Hargobind Khorana (2) Konrad Lorenz
(3) Alexander Fleming (4) Edward Jenner
1973 &° S8 wiruisd Fobd &+ TEIY B0 Ptod) BoBmre Sdaks RO et &
0 e B40K0 Do estona.
(1) sertDes Sorar (2) S>b&%ek
(3) erpowb poh (4)  SugpEsd
E-2 [13]

www.sakshieducation.com

Tur

| b |



69.

70.

71.

72,

www.sakshieducation.com

Q. Booklet
Code B

The quantity of Nitrogen is about 8.5 kg/ton in this green manure.

(1) Lobia 2) Kulthi

(3) Horsegram : (4) Dhaincha
B INTR P (e 58P0 MIBPELT 8.5 3,71, /es, dod
(1) :@E&t‘i : (2) éod

(B) b Zooen (4) s

Whenever this insect feels threatened, Hydroquinine and Hydrogen Peroxide
stored in its body mix with some special enzymes and bad smell comes out.

(1) Normal beetle (2) Cockroach

3) Firefli A
(3) Fireflies (4) Bombardier Beet]e
BPEaSE) SoROBODISES s Sus¥o 6008’ Ao TGRS 50005 29 5 B0 5w
DoBEeE KD Sa0gss Htothed | ) sl
(1) 590 oo (2) &k

3) "

(3) Dvewlots Hritoes (4)  owr8ab By

-------

.............

(1) 5.5t07.5
2 (2) 25to4.5
(3) 9.5t012.5
(4) 8.5t010.5

Panchagavya contains mainly ...
(1) Cow milk, curd, ghee, dung and urine

(2) Buffalo milk, curd, ghee, dung and kerosene
(3) Cow milk, curd, banana, ghee and urine

(4) Buffalo milk, curd, banana, urine and water

SoUIE" STFSCI &BB ...

(1) a@&m,m,m.ﬁcmuwm

(2) 7o e, S0, o, Ses S8k 4675

3) %M,M,%@,Mmﬂmm@a
(4) ?E#m,m.@mm,m_@hnmﬁm

[14]
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The bacteria which can be seen with naked eye.

(1) Lactobacillus e (2) Thiomargarita namibiensis
| (3) Xanthomonas citri (4) Clostridium botulinum
L oo oo S0l wred 2380

(1) oS el (2)  BaP SrEher SRDCHIYS

(3) weFarmibE (@) ThGaws Swadivo

The endangered bird of Kurnool district in our state is ..............

(1) Chameleon ' (2) Great Indian Bustard

(3) Peacock (4) Gooty tarantula

55 TEe6 KETe0 207 SORBRO B3 ereereinen.

(1) &3538 (2) weoN 58

(3) ™o (4) rESEcEse

. LV.F.means............. :

(1) In Vitro Fertilization (2) © In Vitro Fallopian tubes

(3) Internal Vein Flow (4) . International Video Fellowship
LV.F. e85 cccvveneaesee N
* (1) 35265 50880 | (2) 335 PEDADS eawds,
| () zowtESE - (@) 3oeBé DAER DENS

. The hormone, which controlsour excitementsis ..............

(1) Adrenaline (2) Oestrogen

(3) Pi—ggesterﬂne (4) Luteinizing hormone

SETTES0 DOHOIBOD STHERI cererresnens

(1) end&sdS| ™ (2) 51@‘2#5

(3) apod (4)  eomeiReoRs6ehw

Mangrove forests are mainly seen in this area.

(1) Kakinada : (2) Kurnool

(3) Chittoor (4) Anantapur

S0t s e 3eB (Foerel’ i,

(1) =3 J (2) stmeo

(3) Doz (4)  eScuHto
| I' I' : . : f"r”{
E 2 = - [15] Turn Ove
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To escape from the heat of sun. this animal swims through the sand just below

the surface.
(1) Sidewinder snake
(3) Kangaroo rat

(2)  Golden mole
(4)  Sandgrouse

1Y

B4 potiug ool AL weod Binci SNERE Tl &Bliee el GG
(1) 2ED0ub¥E (2) ACRAFS
(3) Somie Sees (4) el s
The writer of the book 'Silent Spring'is ............
(1) RFHmId Ross (2)  Greeor Mendel
(3) Linnacus (4) Rachel Carson
=;_aa;~¢§ Exyen’ o SO0 vevsinniiiies
(1) T=boh 2 micwsed
T 2
(3) THoms 4) Cabsus
Example for Hermaphrodites.
1) Prawn
:?i &t (2)  Cockroach
L Ll T i
4) Earthworm
SH Tehl 202 ATt
(1) ety (2) &es
(3) oo -
= 4) o
Honeybees' venom‘is usedfor the preparation of this |}
(1) Natrum Mur ©®  Calcar S Ilr:}t::m:-np:llhit medicine,
(3) Apis tincture E oy s 08
P . (4) C alei r"hu_t.
mriﬂ i (328 fﬁ"‘ e e e J T
X o T e it et s '“i:_-'::'..ﬁ- \:;:"'LE"-"L:"."-.
= e N
{]-} 'I-b._l:--*”'::n:ﬁ.n_'g {i}} —_— ::_.
(3) ML lesE of ST Ohs
] {".I} :-:Eh:,.‘:-:

Travelling by the ship HMS R \ 3
Qs p HMS Be agle. Charles Darwin lande

d on one ol these

(1) Maldiv
(3) Galépae:s 27 (2) Andaman. Nicohar ia
gos islands (4)  Fijiisland Obar islands
slands

(3) Aot 8pes

[16]
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83. Inreptiles this organ is involved in excretory system.
- (1) Flame cells - (2) Kidneys
(3) Green glands | (4) Malpighian tubules
$8res® T BADE® Tt worpens
(1) &= Sewes (2) omBhomres
(3) SSBHT Hegoes (4) SoPDyR00S Peren
84. Dr. Potu Narasimha Rao from Guntur 1s a renowned scholar and eminent
B s
(1) Cytology (2) Physiology
(3) Psychology (4) Embryology
20ePE050 DB il SPeso NERSIHTY e TY 308 HooS” (S «.evverreene.
(1) Seowise (2) %CsEs, e
(3) T T TR0 4) SeCogago

85. In Japan in 1956, the Minamata disease was caused by this highly toxic
chemical in water. '

(1) Methyl Isocvanide . (2) Mercury Isocyanide
(3) Potassium Isocyanide _ (4) ~Methyl mercury
235 (1956) oTEor B TR VSFPOB UMD

(1) 2595 =3F 3oiRE (2) Dobod I B3ARE

(3) rerixgioe = F HakpE \ (4) wpdaotno

"86. Blue whale's heartbeat perminute ............
| 0 SDoalioo ﬁ}:ﬁﬁﬁ@/ﬁﬂ:ﬂ‘ﬂﬁ e
(1) 7 (2) 46
(3) 1200 (4) 176

87 Expand the National Level Programme, "INSPIRE".

=S Ty Eass "INSPIRE" 5 S30oted.
(1) Innovation in Science Pursuit for Inspired Research
~ (2) Invitations in Science Pursuit for Inspired Research
~ (3) Innovations in Science Progressive for Inspired Research

', (4) International Science Promotes In Research Education

(o

%\ In our country, the legal age for marriage for boysis..............
gi 200 Bsed® crentin e extore ple Shb 230 sJaPeTe QISR crensnnancens
= (1) 2 (2) 20

r.ii (3) 18 (4) 23

e
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1 . g w LT "r"i' ! '.I.H--ll1-l-lr‘ll"l
The junction between nerve cells 18 known ¢

(2) Synapse

(1) Axon
(3) Stimuh (4) Neuron
& Seatie Borrsiesie 368 e w8 R s
(1) =39 (2) ooy

e E
(3) WD (4) SRCS

The scientists who discovered chlorophyll are ..........
(1) Joseph Priestley and Gregor Mendel

(2) Lavoisier and Pelln

(3) C. B. van Niel and Julius Von Sachs

(4) Pelletier and Caventou

This vitamin is NOT soluble in thewatoer.

(1) Riboflavin (2)  Pyridoxine
(3) Ascorbic acid (4)  Calciferol
B Desdod DeI6° Mg

(1) O&°305 (2) 03,5

(3) emoS e (4) ?EJ::;E

ATP, NADPH, are utilizedin ............

(1) hght reaction (2)  excretion

(3) darkreaction (4)  respiration

ATP, NADPH, e D3B7A00 o8 305 ...

(1) sved Xy (2) D38 Ban

(3) :'.‘. S % (4) CATS §m
(18]
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13. This 1s the main enerey souree fom . 5 _
(1) Water gy source for all t::lzt,) Iwﬁg organisms on the earth.
© Pe_tml (4) Sul;]
iPel a3 @ﬁ& é@gﬁ,} e E;*z-‘ 58
(1) ‘o8 (2) ™d
3) e (4) o

)4. Tracheal respiration is done n the fo
(1) Amoeba
(3) Fish

llowing organisms.
(2) Grasshopper

(4) Frog
P A :
1 208" TS To33A wiiictied
(1) e (2) ot
(3) s 4 =5

5. Aperson is hiking on a mountain. His breathing rate is increasing
walking uphill on the mountain. The reasénis«... .
a) oxygen levels are generally less as we move uphill
b) our muscles have to use more oxygén while walking up
¢) oxygen levels are more on mountains
d) our muscles have to use léss oxygen
(1) a)only (2) a)andb)
(3) a)and d) (4) d)only

L5 53 Seorlies DTyt BS AT 58 0B mddair S 2tereFen. A3 e
a) el Jrawm pIEcio B0, 58 dibsecd

b) LhNetoes S5 e53y22 i DRGIPAoW Botran

0)  STredt IEHH e’ edes dowecd

d) Sossssicees BN D ,:.Za:.:ﬁs esdyeane JuaiPholoorPas
(1) dysrsis (2) a)o0ak: b)
(3) a)ssatsd) (4) d)smgls

%6. Haemoglobin present in our red blood cellsisa kindof .......

(1) carbohydrate (2) fdt
(3) protein (4) juices

55% 8 Nemod® eod RSO0 & X0 e,

(1) Lol noeto (2) (5"
() s gyeges @ s
£-2 [19] Turn Over
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In ATP, the energy is stored in the form of these bonds.
(1) Oxide (2) Carbonate
(3) Phosphate (4) Bicarbonate
ATP & &2 wocre ErSos® #8 D dowood
(1) 3,8 (2) =y
(3) 85 (4) B=ERS
The alkaloid which is used for malaria treatment.
(1) Nimbin (2) Caffeine
(3) Quinine (4) Nicotine
BOAL D358 asarfonnd wo), ok,
(1) 2eDS (2) 3d
(3) 39 (4) S
Heptachlorisa.............
(1) insecticide (2)  a kind of food
(3) atype of fish (4) avariety of rice
S 38 ¥ DN i
s (2) 5o ensio
(3) exomuds @) exomssose

When we are hungry, the hunger pangs arise in our st
pangs are controlledby ...........

(1) diencephalon and 10 ¢ranial nerve
(2) medulla oblongata

(3) diencephalon and 5" cranial nerve
(4) peripheral nerves

50k 53D DU 50 doviates’ esxp BFmens

DOHOIBODD wereresrees ST, B esxd
(1) oot 10350 e @ St
(3) gﬁdﬁ‘ﬁamﬁbﬁﬂﬁ‘d (4) Se8ch e

[20]
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PHYSICAL SCIENCE i B
101. The process used to separate the components of ink is ............ o
(1) process of evaporation (2) process of distillation
(3) process of fractional distillation (4) process of chromatography
0" PRy SRR RSWEI EERAcE BB cosssivnanss
(1) ZPepdiss (Ei3a% | (2) 55 i3
(3) e Biess 3ok (4)  EosS S@aw
102. 'Father of Modern Chemistry'is.............
(1) Antoine Lavoisier (2) John Dalton
(3) John Berzelius (4) J.J.Thomson
25500 TPCID B STRITVED wevvrveresens
(1) es0e5% 8Faooeb (2) =@l
(3) &= BOOALR (4) BB wEoe

103. Number of neutronsin Cl 1s.........

50 &° e RIGEPRO S0Py ersserrens
(1) 17 (2) 18
(3) 35 (4) 52

104. Number of molecules presentin 18 grams of wateris ..........

18 rswe D36° Ko @ESQP OPy suesearees:
(1) 3.011 x 10%
(3) 12.044 x-10* (4)

(2) 6.022 x 10*

none of these

105. The maximum number of electrons that can be accommodated in N-shell is ...

N-55,506" &otslie) 05 DEFROS DOFg wwveeeeee:
(2) &

1) 2

23; 18 (4) 92

106. Correct molecular formula of Ammonium Phosphate'is...........

SRSEGEC sareenesessss
(2) (NH),PO,
(4) (NH),(PO);,

‘GRATCI0 it By 158G
(1) NH, PO,
(3) NH,(PO),

[21] Turn Ove
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107. The reason to form water droplets on the surface of a cold soft drink bottle kept

in open airis...............

(1) condensation (2) melting

(3) freezing - (4) evaporation
“POEE” e E0BecD HIDOEPED MHETFIS SO wrersesess:
(1) ;oo (2) s

(3) PogRsso (4) eryisse

108.

109.

‘110.

E-2

The amount of heat liberated when 0.2 gm of water at 0°C freezes to ice at 0°C

0°C 2570 0.2 {rawe 0, 0°C 35 o Sooum SISt DEXSOEs S50 e
(1) 8 Calories (2 16 Calories
(3) 40 Calories (4) 80 Calories:

The nature of the image formed when an object is placed between focus and

center of curvature of a concave mirroris............
(1) magnified and virtual image

(3) diminished andrealimage

(2) magnified and real image

(4)  diminished and virtual image
APTESGyme @), 7D, ST SoiSes D05,
OEEPTED c.ues.

(1) 359 58, 1P Eddowo
(3) SeaD BT DB, e ©BODowo

LS SRVW ol DS [$SDow

(2) Spe BB, Jz (3SDowe
(4) EsES) 53 wenB, :};@E B&Dowe

If the radius of curvature of a spherical mirror ig =
90 cm, then its f,
' ocal length

A

zﬁﬁ‘m@mmﬁgﬂ'ﬁw 90 a5, BOD e Rstre s,
(1) 100cm (2 50cm e
(3) 30cm 4 25c¢m

[22]
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-;:i:ﬂ:111. Among the followi ng, the Snell's law is
L 51800 T8 26 nansi

1) n, Sini = n, Siny (2) n,Sini=n Sinr
_ (3) Sini/Sinr =n,/n, 4) n/Sini =Sinr/n,

-j::ﬁllﬂ- Among the fﬂuﬂ‘-"ing which is not the application of total internal reflection?

(1) Formation of mirages (2) Formation of rainbow |
(3) Brilliance of diamonds (4) Working of optical fibers
S0 SORTTTOBT ST Gl DRI T ieeenrens
(1) eiEsryes s (2) oSt Do
(3) Sgren EPIotoes (1) ep¥opel (Hrpetngpey) 8 dabve
- 113. By using double convex lens, which of the following defect of vision is corrected?
(1) Presbyopia (2) Myopia
| (3) Hypermetropia (4) . Night-blindness
L OorrTed Kwmd; TPERo Do B §niNe SH0SEHERI0E e
(1) Sorse (2)  &dha
(3) Bz (4) BO5I
- 114. The reason for appearance of the red color of sun during sunrise and at sunset
(1) refraction of light (2) dispersion of light
(3) scatteringof light (4) reflection of light
S s, MRTESO SECred® Bt DU EeEES Ko SO ...
(1) S0 Bl (2) =08 TS
(3) od so&se0 (4) el STiate

115. An electric circuit draws a current of 0.4 A from a 12 V battery. Then its

equivalent resistance iB i .
12V erses8 0.4 A Ditiog s eEHecio §52 Sorthood sond & Soae 106 26%s ...
| (1) 30 @ (2) 48 0
B (3 30 (4) 4.8 0
1-:
L..E 2 %3] Turn Over
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The specific resistance of a conductor dependson ..........
(1) nature of the material of the conductor
(2) length of the conductor

(3) cross section area of the conductor
(4) all of these

w8 DI DRG0 B0 ertisd oo ...

(1) opinx SO sgide (2) rirSo e

(3) TirSo tagy HidTec (4)  BEYdin

An electric device which converts mechanical energy ‘into electrical energy
(1) electric cell (2) electricmotor

(3) transformer (4) electric generator
CATPO(OS 250 D dm SRUNIES0 ...

(1) DS s - (2} Db arerE

(3 eroof (4) DSt

The "Junction Law" proposed by Kirchhoff ig based on .

(1) conservation of mass

; (2) cﬂnsewatmn of energy
(3) conservation of mementum (4)

conservation of
3505 BOFRoDN XFED (2055) Dawine 53 exss

{1} {%a%ﬁ [2] i L il
(3) ERNRgBe (1) o

charges

1S\ N......... action
308 Bdins s AT i

= :3%355 %‘?’J@nﬁﬁuv N2 T s H O 258

{1) ENH;] ___3'N2+3H2 = H'Eﬁi‘u‘: ----------

(2) Fe,0, +2Al—— AL O, + 2 Fp
(3) BaCl,+ Na, SO, — BaS0),

+ 2N,
(4) 2Mg+ﬂ2———+2Mgg 2

[24]
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D
'Caﬁlcium Sulphate hemihydrate' is called as ......... |
(1:) Plaster of Paris (2) Gypsum
(3) Bleaching powder (4) Baking soda

QA0 5085 2 A 0 ger DL vervees
(1) 280 esp 38 2) 250
(3) DIR>eb (4) D3k A

The gas liberated when an acid reacts with metal carbonate
(1) burnsin air with pop sound

(2) has smell of rotten eggs

-------------

(3) turnslime water into milky white

(4) make§ burning splinter to burn brightly

5 €500, 2.8 85 SEYAS & ity wbisidiss Dekotsedih oy
(1) 85903 #2208 Sootsitiood

(2) S SEOE TS0 KA Howwod

(3) o Besso Feisd Berm BIEBd

(4) sootouss) P BTERBOT BeG0 THpod

A student writes an orbital diagram which shows the electron configuration of

carbon as follows.

C(Z=6) 1s TV e
157 257 2P
The rule which does not support thisis ...........
(1) Pauli exclusion principle (2) Hund's rule
(3) Aufbau principle (4) all of these
308 estyeE Ogr Do TS doFn FTgRY BPARNER ¥ I EEne
cz=6 |1 1 =
182 28 2FP¢
20 B ATV HBOPO <ovceeee
(1) b5 Voo © (2) DwoElawise
(3) esHEP Dawoo (4) 2
(25] Turn Over
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123. Four quantum numbers of an electron denoted by short notation 28" are miven

The correct option among the followingis ..........

98! a5 N3 Besod’ wrsndd aaﬁlﬁ: Glook), Lol SHELO JoPEY So8 culerron

D36° SBEID cvuvrees
1

(1) n=1,1=0,m=1,m,=+_ @ n=21=1,m=0me=s >
1

(3) n=2,[=0, m, =0, m‘=+-2- (4) n=2, f:l! mn, 1, m, -"—‘+%

124. The periodic law that states "the physical and chemiecal properties of the element

are a periodic function of their atomic weights" is

-------------

(1) Newland's law of octaves _ (2) Mendeleev's periodic law

(3) Moseley's periodic law (4) Modern periodic law

e SYSE BN PO TR SESTe o esiSE0 (BRoairey? esissa &+ Dodsoe
(1) Srmerely s daiso (@) R0osbf esnms datsse
(8) Y endtes Daiase (4) 0% e85 dodesoe

125. The periodic property that decreases in periods of

modern periad:
elements from léft to nehEis ... Perlodic table ¢

(1) atomic radius (L) T
(2) ionization energy

3) elect 1
(3) electron aﬂ:’lmty (4) electrunegativit}r
| ST S0 SO0 DY ot hoaEed® Jess Bood
i (1) Wm:'@go

(3) Jﬂ@;ﬁ eshoed

043 &ﬁ, p_;i;ﬁ-.":_;.‘::, %‘:
(2)  eandsse xa

(4) o0 ﬂdaégna;,ag@ |

126. HNH bond angle in NH g o

NH, 6 HNH woiSiese ...
(1) 109° 28

(2) 107° 40
(3) 104° 31’ Pl 4g

(4) 1200

E-2 www.sakshie[:ygition.com .
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[n Ethyne (C,H,) molecule, orbitals of carbon atom undergo ...........
(1) sp® hybridisation (2) sp?hybridisation
(3) sp hybridisation (4) sp®d hybridisation

820 (C,H,) orups® 5,5 sy Gk, @iy DB 30880 ...,

3
(1) sp? Sexdxtsesan (2) sp? Soxbstessw

(3) sp Sosbsemnny (4) spid Bosbstes

Among the following ores, which is not a sulphide ore?

(1) Zinc Blende (2) Cinnabar
(3) Galena (4) Haematite
B8 30l Trasped’, $BE oo =89

(1) 2cE3ek (R)Coyerb

(3) A= (4 DS

The functional group which has 'ol*as suffix according to IUPAC nomencl

e

[UPAC =rQostes Dorive (5780 6" 36 SSom No (5o sarre ...

(1) R-OH (2) H—F:U
H

(3) R—F:O 4 R-c=0
|
OH R

General molecular formula for homologous series of Alkenes is

esb) 00 S0 BrA BIN0D FTRU LD PEREE ........
(1) CnH,, 2 CnH

242

3) CnH,, , (4) CnH.

2n+1

[27]
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131. The unit of pressure in S.I. system 18 ....... 2
(1) Dyne/meter? (2) Newton/meter
(3) Newton—meter (4) Newton— meter’
D90 ok, S.L. (R0 wernsrrerrens 2
(1) Eo/Dowts? (2) Rmgan/oe
(3) S - Dot (4) s - 0l
1382. To reduce friction between rotating shafts of machine tools, We Use iiu..aeee
(1) lubricants (2) ball bearings
(3) iron wheels (4) all of these
Aoigred® GRorod’ Ko G GRTPE B HPEsEd BACVEPS TPED werrrerseees
(1) Scdden (2) b - BOohew
(3) s BEres (4) pOes
133. Among the following which has the highest pitch?
(1) Lion (2)  Adult women
(3) Adult men (4)  Infant
4 (308 TRE° dsS0 (H) Do &l ...
(1) ~eiro _ (2) Nolny
(3) DI 4) %D
134. '-I'he method used for coating metal objects with a thin layer of different metal:
1B ccicsnnsnsans
(1) electroplating (2) electrotyping |
(2) ‘paling (4) distillation
S SR D0 U0 8550 mbes SReH a2 ESaRAcd D ..
(1) Ju&fﬁ:ﬁoﬁ (2) e Lgs;_
(3) F0oh (4) ﬁb&tﬁﬁ-ﬂ
135. A synthetic fiber made up of celluloseis. .
E:; ;ul}rester (2) Nylon
3yon (4) Acrylic
Do S HAriRent LS KT oe
(1) S8
&
(3) Saurd =) jgom
(4) 5385
E-2

(28]
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earthquake? e intensity of the
ake?

(1) Centigrade scale (2) Fahrenheit scale
(3}. Kelvin scale (4) Richter scale

HPSal DB SoSE0S s oo G3ERANS

--------------

(3) 30 e (4) oxbye

. Among all planets, the nearest planm; toearthis.........
(1) Mercury (2) Venus
(3) Mars (4) Jupiter

(1) s (2) Bops
(3) Soeet (4) (i

. The products obtained by the processing of coal are ...........

(1) kerosene, petrol, diesel (2) kerosene, coke, coal tar
(3) coke, coal tar, coal gas (4) petrol, diesel, coal gas
VOB B Do SO DO EHBILD <ecnee-t

(1) 2625, 5%, ced (2) 26%5, 5%, %o

3) §%, 5o, S'Eme @) 5%, &6, 56mS

The temperature which is equal to 327 K in Celsius scale is ............

397 K 5 SSASSH0O GBI 200D 57008" wuvvenees
(1) 54°C (2) 600°C

@) 273° C (4 5738°C

If a train covers half the distance at a speed of 60 km/h and the other half at

40 kr.nfh then the average speed of the trainis.

(1) 50km/h
(3) 24 km/h

. | (29 Turn Over
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: : : YA caiiie
The acceleration of a person running at a constant velocity of 400 m/s

400 o, /35, 258 VoS SUMRD 2.8 53 B3O wevseaes
(1) 9.8m/s (2) 400 m/s
(3) Om/s (4) 40 m/s

The equation represents the law of conservation of momentum 1s ..........-

SIS Dyt DOIETD, DD HAKBEI0 cvveervenens
(1) mu + mu,=m,u,+m,u, (2) muy -mu =mu,sm,u,
) muy, -mu =mu,—m,v, 4) mu, +mu =mu,—m,u,

A man of mass 50 kg uses a rope which bears only 600'N to climb a mountain.

The maximum acceleration with which he can élimb Safelyis.............

50 3.7, © (5503 o .5 23 600 307580 237y 001 Husoris’ itaie s Sas W50 GTH .
LT UEGTT I8, 08 TN HOR, B0LC 0eeetne o nsess

(1) 15 m/s? (2) 12 m/s?

(3) 18 m/s® (4) 30 m/s?

The weight of a stone of mass. 50 ké which is falling freely

from the t f
building of height 100'm is L

. Dtholies L #ose s
100 2o. S8shie 5 5550 B 8sed Sagym Boss BB 50 3

(1) 430N (2) 980N
(3) 5000 N (4): ON

i I._I_Tn- L;:JSU“% ﬁﬁ} U‘D.J.Jﬁtb@ —

The prineiple involved in the working of hydraulie Jacks to lift K
: Cavy vehjcles

------------

(1) Archimedes’ principl |
principle (2) Fasca]sprinciplg

(3) Boyle's]
) yieslaw . (4} BEI‘HHU“'E Principle

70 o Boetem 22008 ESAMSS wledt ansa % 1

(1) «6R:dS o (2) 5.8 Al
; RESTES

(3) ercd oy Lt

‘‘‘‘‘‘‘‘‘

[30]
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146. The work done on the object of mass 10 kg raised to a height of 5 meters from
the ground is .

------------

10 3. 7. (5509 Ko ¥ S50 Setoed 5 R0 DB BRBYHES TR 2ERSY
(1) 50 Joules (2) 490 Joules
(3) 980 Joules (4) 25 Joules

-------

147. Among the following which are longitudinal waves?
(1) Sound waves
(2) Light waves

(3) Waves formed on the surface of the water
(4) Waves formed on the strings

&+ (300 TIE® By BB ceveenne.

(1) &0 stemes (2) o BUemes
(3) & &stBeo 2 MHE Biomes (4) Rfes GG domes

148. Among the following, incorrect option related to evaporation is
(1) cooling process
(2) surface phenomenon
(3) phenomena of change of a liquid into vapour at boiling point
(4) depends upon the surfacearea, wind speed and humidity

----------

ERPETSAS B 5020000 (368 TG SO .vrereene.
(1) 20dstes Bi3aw

(2) &350 Hhcato

(3) SotisrbTSe B Bde grigom W Sgicie

(4) &s0BePTOR, T LN, CEBOD SIS EB0

149. The temperature at which water has minimum volumeis ..........

538 &6 B PISSOETEI0 Poi SBS ...
1 0°C - (2) 4°C
(3) 27°C 4) 100°C

150. 50 grams of sugar was dissolved in 200 ml of aqueous solution. Then mass by
volume percentage.of the solutionis ..........

200 :1:§ bu-gr:m l;.m o0 rsase ngﬁgan@:g&. &3 TP 50D SISO S
(1) 10% SR 1A (2) 20%
(8) 25% 5 ;i) 5%

E-2 ' [31]
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